Foh—MH AL GREHTE400kNKFH - —EfFE. THMNT)

10mlA D= 2.2 10R%Y
£ ¥ = E VA ER &%8 5%
HEER DX 1 A |17,300] 38,060
FikEEE DX 1 A 116,200 35,640
EEEXE Dx2 A |12,100] 53,240
e 1 ®* [ ED3% 3,808
&t 130,748
Foh—RAH AL (BT E400kNKH - —EfHE. THMNI)
10mBZ20mLUA D= 2.33 10441
£ ¥ = E A ER &%8 55
HEER DX 1 A |17,300| 40,309
e EI] DX 1 A |16,200]| 37,746
EBEXE Dx?2 A |12,100| 56,386
e 1 ®* [ ED3% 4,033
&t 138,474
RIGHAT - fRET 100ZEm L)
2 ¥ = BT | B &%8 55
HEE R 2.1 A |17,300| 36,330
VT 6.2 A 14,700 91,140
LBIEEE 3.9 A | 12,100] 47,190
377L=9L—y(Gi)25t E ¥ 0.4 H 48,000 19,200
HHE 1 Xt | Em20%| 38,772
&t 232,632
SS598EAT D= 4.1 10m4lY)
A ¥ M= BfI | Bl &% B5s
HERE 10/Dx1| AN |17,300| 42,195
BHREXE 10/Dx1| A ]16,200] 39,512
EBEXE 10/Dx2| AN [12,100]| 59,024
HHE 1 X | Em23w| 32,368
&t 173,100
RiE-EE HEHFETEA00KNKH
D= 1.1 10ARY Y
£ ¥ = E VA ER &%8 55
HEE R DX 1 A 117,300 19,030
e EI] DX 1 A 16,200 17,820
LBIEEE Dx2 A | 12,100] 26,620
HHE 1 X | Ed19%w| 12,059
&t 75,529
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